Audience Measurement Problem #1 (with answers)

Total Population: 10,000,000
We have developed a 30-second TV spot to air this summer.  We have a budget of $200,000 for the week of June 17th.  Below is some relevant information.

Spot Rates


Expected Viewers
TV Show “A”:

$25,000



1,500,000

TV Show “B”:

$30,000



2,000,000

TV Show “C”:

$50,000



3,000,000

TV Show “D”:

$40,000



2,500,000

Each show is aired only once during the week, however each show is aired at the same time as the others, therefore it is only possible for any household to watch one show (assume that neither the VCR nor Tivo have been invented yet, and that each household only has one TV).  There is a strong sense of family values in this world; therefore we assume that if the TV is on in a household, every member of the household is watching.  It is possible to run more than one spot during any show.

How should the money be spent in order to maximize exposures (calculate CPM for each show to aid in this decision)?  Based on that decision, calculate GIMP, GRPs, Reach, and Frequency for your selected campaign.

CPMA = (25,000 / 1,500,000) * 1000 = $16.67

CPMB = (30,000 / 2,000,000) * 1000 = $15.00

CPMC = (50,000 / 3,000,000) * 1000 = $16.67

CPMD = (40,000 / 2,500,000) * 1000 = $16.00

The natural assumption is to spend as much on Show B as possible.  This would suggest purchasing 6 spots during show B, resulting in 12,000,000 impressions.  However we would have $20,000 left.  If we show only 5 spots during show B, we leave $50,000, all of which could be spent on a spot during show C, increasing impressions to 13,000,000.

	Potential Strategies:
	5B + 1C
	5B + 2A
	4B + 2D

	
	
	
	

	GIMP = 5(2,000,000) + 1(3,000,000) = 
	13,000,000
	13,000,000
	13,000,000

	GRP = (13,000,000 / 10,000,000) * 100 = 
	130
	130
	130

	Reach = (2,000,000 + 3,000,000) / 10,000,000 = 
	50%
	35%
	45%

	Frequency = 13,000,000 / (2,000,000 + 3,000,000) = 
	2.6
	3.71
	2.89


